
BA Part-II (General)Examination, 2020 

Subject: Sociology 

Paper Code-IV 

 Indian Society: Structure and Change 

 (New Syllabus) 

                                                                                               Full Marks: 50 

Numbers in the margin indicate full marks  

Group A 

Answer any two of the following       (20x2=40) 

1. What is social change? How has westernization brought about a change in Indian 

Society?                                                                                              (5+15=20) 

2. Analyse the features and forms of two of the following religions in India: Buddhism 

and Jainism.                                                                                       (10+10=20) 

3. Define ‘Family’? Elaborate the various changes in the functions of the family.                                                                     

(5+15=20) 

4. Define Scheduled Caste. What are the various Constitutional protections for Scheduled 

Castes in India?                                                                                   (4+16=20) 

                                                     Group B 

Write any 2 of the following                                     (5x2=10) 

a. Who are the Dalits?                                                                                        (5) 

b. What are the characteristics of tribes in India?                                              (5) 

c. What are the features of nuclear families in India?                                        (5) 

d. Write a short note on the features of Christianity in India.                             (5) 

                                                                         

                                                                         বঙ্গানুবদ 

                                                                      Group A 

যে য ান দটুি প্রশ্নের উত্তর দাও।         (20x2=40) 

 

১. সামাজিক পজিবর্ত ন জক? পশ্চ্যাজিকিন প্রজিযা ভাির্ীয সমাি বযবস্থায জক পজিবর্ত ন সংগঠির্ করিরে?     

                                                                                                                                             (5+15=20) 



২.ভািরর্ জনম্নজিজির্ দুটি ধরমতি ববজিষ্ট্য ও ধিন জবরেষণ কি: ববৌদ্ধ ধমত ও বিন ধমত। (10+10=20) 

৩. পজিবারিি সংজ্ঞা বিরিা।ভাির্ীয পজিবারিি কার্তাবিীি পজিবর্ত নগুজি জনরূপণ করিা।(5+15=20) 

৪. র্ফজসজি িাজর্ কারক বরি? র্ফজসজি িাজর্ভুক্তরদি িনয গৃহীর্ সংজবধাজনক বযবস্থাগুজি আরিাচনা করিা।           
(4+16=20) 

                                     Group B 

যে য ান দটুি প্রশ্নের উত্তর দাও।           (5x2=10) 

ক. দজির্ কািা?                                                    (5) 

ি. ভািরর্ উপিাজর্ সমারিি প্রধান প্রধান ববজিষ্ট্গুজি জক?                    (5) 

গ. ভাির্ীয একক পজিবারিি প্রধান ববজিষ্ট্গুজি আরিাচনা কি?                (5) 

ঘ. ভািরর্ িৃষ্ট্ ধরমতি ববজিষ্ট্গুজিি সম্পরকত  সংজিপ্ত টীকা বিরিা।                (5) 

--------x------- 


